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SECTION A: (15 X 2 marks)
For each gquestion, four opfions are given, One of the opbions is the comect answer,
Shade the correct oval (1,23 or 4} on the Oplical Answer Sheel. Please use only 28

" pencil and SHADE the oval completely.

1 What is the value of the digat 4 in 17,348 7

1) 4 ones 2) 40 ealhs

3) 4 hundredths 4) 40 lens

=
-~ -
-

2. Which one of the following numbers is the largest 7

1) 2.095 2) 2.05
1) 2.59 4) 2.905 3

- “l-'.'-'l.- )
3. Express ﬁfaadecuml_

1) 0.011 2) 0.022
3) 0.1 _ 4) 022

How many hundredths are there allogether in the difference between

4 A7and3.97
1) 0.8 2 a
3) 80 4) 800

2. How many ql-mmwtmmutenammammmmmughm
725am. and 945 am.?

19 2) 8
3 s 4) 4

-+




6.

I am a 4-sided figure. | have a pair of paraliel lines and 2 pairs of
perpendicular lines.
Which one of the following figures best describes me ?

1) - 2)

3) 4)
In the figure, line is perpendicuiar to and is also
parallel to iine .
A -_
B
F
D
E
't AB; CD; EF 2) AB; BC; CD
3) BC; AB; DE ‘ 4) DC; CB; AF

Atreeis 6.9 mwhenits height is rounded off to 1 decimal place. Which
one of the following is the actual height of the tree?

1) 6.95m 2) 6.84m
3) 6.99m 4) 6.88 m



10.

11.

12

Mr Lingam paid $29.80 for a shirt and $59.90 for 4 pair of bermudas. He

gave the cashier $100. How much change did he receive?
1) $89.70 2) $21.30

3) $11.30 4) $10.30

What is the missing number in the box?

16 2) 13

3) 24 - 4) 45

There is a total of 175 red and biue buttons in a box 73 of the butions are

biue. How many more red buttons than blue buttons are there in the box?

1) 50 2) 75

3) 100 4) 125

Susan and Sally weigh 64 kg. Susanis 8 kg heavier than Sally.
Express Sally’s mass as a fraction of Susan’s mass.

7 7
1) — 2y =
)16 )9
9 7
3) — 4y 2
)16 . )8




13..  'The figure is made up of a rectangle and two identical squares each of
- side 3 cm. Find the length of the rectangle.

7 cm|] T

5cm

1) 13cm 2) 17 cm

3) 19cm 4) 25 cm

4. The figure is made up of 2 squares. Find ZEGA.

C D
A | 5]
E
18°
H G F
1) 45° ' 2) 72°
3) 107° 4) 117°

L3
-

15. Ata ticketing booth, 5 children were queuing in front of Betsy. There were
7 other children between Betsy and Charles. If Charles is the fourth child
from the last child, how many children were in the queue?

1) 17 2) 16

3) 15 4) 14



SECTION B: (19 x 2 marks)

- Wirite your answers in the blanks provided. Show your working clearly.

Leave your answer in the units stated.

16.  What s the total value of 14 + .+ L1 5

100 1000 °
Express the answer as a decimal.

]l,

Ans

17. Subtract 4.189 from the sum of 6.1 and 2.37.

Ans

18.  What are the missing fractions in box A and box B?
{Express your answers in simplest form.)

Ans: A=

Do not
wirite in
this space




19

20. .

21.

22.

Arrange the numbers in descending order.

2.3, 2.81, 2 - ZQ o=

5° 20

Ans

Add i, L and 1.8 together.
. 10 4

Round off the answer to 1 decimal place.

Ans :
4932 + 10 = f ? |+25
What is the missing number in the box?
Ans :
Find the value of
11
T~ X 20
A2 7
{Express your answer as a mixed number.)
Ans :

Do not
write in
this space



23.

24,

25

How long is the eraser? Express your answer as a decimal.

Ans :

Soo Leng spent 61 of her money on a file and 1—2 of it on a book. What

fraction of her money did she have left?

Ans -

Penny used 120 g of sugar to bake some muffins, This:was 2 of a packet

of sugar. How much sugar was there in the packet at first?

Ans

Do not
write in this
Space




‘The graph below shows the number of Primary 4 pupils who did not bring
their thermometers for a temperature-taking exercise.

Study the graph carefully and answer questions 26 and 27.

56
48

Number 40_
f il
of pupils 39

24
16
8
0

26. How many more pupiis did not bring their thermometers in Term 1 than in
Term 47

Ans :

27.  There are six Primary 4 classes with 41 pupils each. How many pupils
brought their thermometers for the temperature-taking exercise in Term 27

Ans:

Do not
write in
this space




' Do not
28.  Siam Road is 17.8 km long. Lindan Road is 2.011 km shorter. What is the wraite in
length of Lindan Road, rounded off to the nearest hundredth of a kilometre? this spac

Ans : km

29. A basket of lychees has a mass of

longans and the same basket of §
basket of tychees?

I
]

2.58 kg. The total mass of a basket of
ychees is 4.26 kg. How much heavier is the

Ans: kg

30. A machine can make 405 bottle ca

ps every 12 minutes. How long will it take
to make 2025 bottles caps? .

Ans: min

10 -




31

32.

Mrs Lam needs to assign each of the 3 new students, Randy, Sammi and
Nadine, to a different group. They could be assigned to either Turquoise
Group, Indigo Group or Emerald Group. In how many different ways can Mrs
Lam assign a group to the new students?

AnNs :

Study the figure below carefully. Find the length of r-
(All the lines meet at right angles.)

4
A i —
19 cm 27 cm
V] —
]r T 4
E 18 cm

Ans : cm

11

Do not
write in
this spac



33. WXYZis a rectangle. Find /WZS and /SY7.

Do not
wrife in
this space

Ans : L/WZS = ¢ _
£LSYZ = 0
34. 7 In the figure below,
a) BC is paraliel to
b} FGis perpendicular to
Ans : a)
b)

12




SECTION C: (8 x 4 marks)

. Solve the following problems. All mathema

tical working and statements must be shown

- clearly.

35.

36.

Uncle Tom bought 10¢ of paint. He used 4.25¢ to paint the halland 3.3 ¢
to paint his bedroom. He accidentally spilt 0.489¢ of paint. How much
paint did he have left ?

Ans:

There are 440 seats in a cinema. iil of the seats were occupied by adults

while 248 seats were occupied by children. How many seats were
unoccupied ?

Ans :

Do not
write in
this space

13




37.  The total capacity of 4 bottles is 5.248¢ .
Bottle A has a capacity of 1.278¢.
Bottle B can hold 0.55 ¢ less than Bottle A.
Bottle C can hold 0.135¢ more than the total Capacity of Bottles A and B,
Bottle D can hold 1.04 ¢ less than Bottle C.
What is the capacity of Bottle D ? -

Ansg .

38. Sophia needs l% m of cloth to sew a cushion. She needs a total of 5 m of

cloth to sew 2 such cushions and a pillow case. What is the total length of
cloth needed for her to sew 2 cushions and 3 piflow cases ?

Ans :

14

Do not
write in
this space




39. The figure is made up of 3 squares, with each square of side 12 cm, 6 om
and 2 cm.
An ant crawls along the path as shown by the thick lines. What is the total

distance covered by the ant?
X

Ans

40.  Every day, Mr Gopal delivers 43 bottles of goat's milk while Mr Nathan
~ delivers 48 bottles of goat's milk. If they have to deliver a total of 455
bottles of goat's milk, how many bottles are being delivered by Mr Nathan ?

Ans :

15

Do ﬁot
wile in
this space




41. 6 chairs cost as much as 2 tables.

The total cost of 6 chairs and 2 tables is
$1272. How much more expensive

is 1 table than 1 chair?

Ans :

42.  Some matchsticks are used to form the series of figures below.

o584

a) Complete the table.

Number of [
D 1 2 3 4 5 6
Number of
maichsticks 4 7 1G 13

b} How many maltchsticks will be used to form a figure with 10 /__/ 7

Ans 7

Do not
write in this
space

“*END OF PAPER **

16




EXAM PAPER 2008

SCHOOL : CHYJ PRIMARY SCHOOL
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TERM : CA 2

Jo10] Q11 Q12T Q13|14 Q15 -
a {32123 41

[QiTaa] 03] qal a5 |6 a7
| 3 4 .23 ]1]3]|2

wgr
KD
w

. 16)14081 17)4281 o '18)A=3s76 B=523

15, 28112415,23  20)2.4 7. 22)1813

23)1.4cn’ % L 24) Y 25)540g° " 27)210

28)15.79km~  29)0.90kg _ 30)60min “31)6way 32)10cm
33)57%, 65°: °34)a)GF b)GA  35)L.961L. . 36)32
37)L101L " 38)8ysm 39)3dcm. 40)240°

41)212 42)a)16,19. -b)31,



